Subject: Re: Problems with tvrd(),true=1
Posted by kbowman on Fri, 25 Feb 2000 08:00:00 GMT

View Forum Message <> Reply to Message

In article <38B5A564.8EB3AFAF@indra.com>, mbennett@indra.com wrote:
>> a=tvrd(),true=1

Should be

a = tvrd(true=1)

Regards, Ken

Page 1 of 1 ---- Generated from conp. |l ang.idl - pvwave archive


http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=3440
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=11255&goto=19170#msg_19170
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=19170
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

